T-79.4301 Spring 2007
Parallel and Distributed Systems
Tutorial 5 — Solutions

1. a) L1 ||L2 = (212, 512, S?Q, Alg), where
212 - 21 U 22 == {CL, b, C},
512 = Sl X SQ = {(507t0)7 (307t1)a SRR (327t2)}a
Sty = 87 x 83 = {(s0,t0)},

and the transition relation A;s is defined as shown in the figure below.
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b) Ly || Ly = (223, S93, 533; A23>7 where

Yoz = Yo U X3 ={a,b,c},

Sag = Sy x Sy = {(to, o), (fo, u1), - - -, (t2,us) },
59, = 59 x 89 = { {to, o)}, and
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Ly || Lo ||L3 = (2123, S193, 5?237 A123)7 where

2123 = 21 U 22 U 23 = {a,b, C},
Siag = S1 x Sy x S5 = {(s0, o, ug), (S0, to, u1), .-, (52,12, u4) },
5?23 = S? X Sg X SO = {(Sout()?u())}? and
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